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QUESTION 1

Refer to the exhibit. 

Referring to the exhibit, what are two reasons why R2 and R4 show a different hello interval than R1 and R3? (Choose
two.) 

A. R4 is the DIS. 
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B. R2 is the DIS. 

C. R4 has explicit configuration to set the hello interval to 3 seconds. 

D. R2 has explicit configuration to set the hello interval to 3 seconds. 

Correct Answer: BC 

 

QUESTION 2

-- Exhibit -- Exhibit -Click the Exhibit button. You administer the network shown in the exhibit. Routers R1, R3, and R4
are sending the same prefix to 

R2. All routers are using default local-preference values. You must make the prefix from R4 the most 

preferred. 

Which two actions accomplish the task? (Choose two.) 

A. Configure as-path-prepend on R1 and R3. 

B. Configure local-preference 10 on R4. 

C. Configure router-id 4.4.4.4 on R4. 

D. Configure always-compare-med on R2. 

Correct Answer: AD 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the OSPF link metrics in the exhibit, which path will traffic from R6 take to reach R1? 

A. R6, R3, R2, R4, R1 

B. R6, R3, R2, R1 

C. R6, R5, R4, R1 

D. R6, R5, R3, R2, R4, R1 

Correct Answer: B 

 

QUESTION 4

Click the Exhibit button. 

In the exhibit, NG-MVPN is used for a Layer 3 VPN. Which two statements are valid? (Choose two.) 

A. The egress PEs for I-PMSI tunnels should signal a label value of 3. 

B. The vrf-table-label parameter is configured on the PEs. 

C. PIM must be enabled on the PE and P routers. 

D. The provider tunnel shown is similar to a draft-Rosen default MDT. 
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Correct Answer: BD 

 

QUESTION 5

Given the following regular expression: 

.* 14203+(21870110458) 

Which two AS paths match? (Choose two.) 

A. 27522 2187010458 

B. 27522 14203 14203 14203 21870 

C. 14203 21780 10458 

D. 14203 21780 27522 

Correct Answer: BC 
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